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ÍÛæ̃ Û¶ÛÛ : (1) Í Û ÛþùÛ  ï éõÅ Ûî ýÛäÅ Ûé¤øÁ õ ¶ÛÛé Š¸ Û ýÛ Ûé• Û ïõ Áõ à ÉÛï õÛ ÉÛé.  
  (2) › ÷¾Û¨ Ûà  ¼Û Û›ä÷¶Û Û …×ï õ  ¸ÛóÊ¶Û ¶ÛÛ  • Ûä̈ Û þùÉÛ ÛÙÈ Ûé ™öé .  
 

1. (a) • ÛÛ íé̈ Û ¾Û ÛÜ Ðü ©Û à ¶ÛÛ é …¬ÛÙ Í Û ¾Û› ÛÈ ÛÛé.  3  
 (b) • ÛÛ íé̈ Û ¾Û ÛÜ Ðü ©Û à ¶ÛÛ  ¸ÛóÛ Ü ¸©Û Í ¬ÛÛ ¶Û Ûé › ÷̈ ÛÛ ÈÛÛé.  4 

 (c) …Û þùÉÛÙ ¸ ÛóÊ¶Û ÛÈ ÛÅ Ûà ¶Û Û ÅÛ “Û¨ ÛÛé Å Û ”ÛÛé.  7 

     …¬ÛÈÛÛ 
 (a) ¸ ÛóÛ ¬ÛÜ ¾Ûï õ ¾Û ÛÜ Ðü ©Û à ¾Û éÇ ÈÛÈ ÛÛ ¶Ûà Áõ à© ÛÛé › ÷¨ÛÛ ÈÛ Û é.  
 (b) ¸ ÛóÛ ¬ÛÜ ¾Ûï õ ¾Û ÛÜ Ðü ©Û à ¶ÛÛ é …¬ÛÙ Í Û ¾Û ›ÛÈ ÛÛé.  
 (c) ¸ ÛóÛ ¬ÛÜ ¾Ûï õ ¾Û ÛÜ Ðü ©Û à …¶Ûé • ÛÛíé̈ Û  ¾Û ÛÜ Ðü ©Ûà  È Û ˜˜Ûé ¶Û Ûé ©Û ºõÛ ÈÛ ©Û ÅÛ ”Û Ûé.  
 
2. (a) È ýÛÛ ”ýÛÛ  …Û ¸ÛÛé ƒ …Û ÈÛèÜ «Û , È Û• ÛÙÅ Û×¼Û Ûˆ , …Û ÈÛèÜ «Û ÜÈÛ ©Û Áõ ¨Û 3  
 (b) È Û •Ûâ ï õÁõ ¨Û ¶Ûä× ¾ÛÐ ü «È Û ÅÛ ”Û Ûé.  4 

 (c) ¶Û à ˜Ûé¶Û Û  …ÈÛ ÅÛÛéï õ ¶ÛÛ é ¸ ÛÁ õ ¬Û à  ÈÛ •ÛÙÅ Û×¼Û Û ˆ  5 Ð üÛéýÛ  …¶Û é …éï õ  È Û• ÛÙ 20-24 Ð ü Û éýÛ  ©Û éÈÛ ä× …Û ÈÛèÜ «Û  ÜÈ Û© ÛÁ õ¨Û 
¼Û ¶ÛÛ ÈÛ Ûé :  7  

16 28 30 22 29 12 19 30 32 26 22 18 20 25 20 

19 20 23 28 28 30 32 12 18 26 30 32 25 29 23 

                          …¬ÛÈÛÛ 
 (a) …Û ïèõ Ü© Û …¶Ûé …ÛÅ Ûé”Û ¶Ûä× ¾Û Ð ü «È Û Å Û ”Û Ûé.  
 (b) Í Û×̃ Û ýÛ à …Û ÈÛèÜ «Û ÈÛ ’õ ¶Û à Áõ ˜Û ¶ÛÛ  Í Û ¾Û› ÛÈ ÛÛé.  
 (c) ¶Û à ˜Ûé¶Û Û …ÛÈÛ èÜ «Û  Ü ÈÛ ©ÛÁ õ¨ Û ¸Û Áõ ¬Û à Í ©Û×½Û ÛÅÛ é”Û ¶Û à Á õ ˜Û ¶ÛÛ ï õÁõ à , © Ûé¶Û Û ¸Û Áõ ¬Û à …Û ÈÛ èÜ «Û  È Û ’õ  þùÛ éÁõ Ûé :  

ÈÛ•ÛÙ  : 10 – 20  20 – 30  30 – 40  40 – 50 50 – 60  60 – 70 

fi : 8 12 30 38 20 12 

 
3. (a) È ýÛÛ ”ýÛÛ  …Û ¸ÛÛé ƒ ¾Ûµ ýÛï õ , ¼Û Ðäü ÅÛ ï õ , ˜Û ©Ûä¬Û Ùï õ    3  
 (b) 10 …È Û ÅÛ Ûéï õ ¶Û Ûé¶Û Ûé ¾Û µ ýÛï õ  12 ™ö é. ¸ Û Û™ö Ç ¬Ûà  ¾ÛÛ ÅÛæ¾Û  ¸ Û¦ øÀä× ï éõ  • Û ¨Û ©Û Áõà  þùÁ õÜ ¾Û ýÛÛ ¶Û  …éï õ  …ÈÛ ÅÛÛéï õ ¶Û 

½ÛæÅ Û ¬Û à 18¶Ûé ¼Û þùÅ Ûé 8 Å ÛéÈ ÛÛ ýÛä× Ð ü© Ûä×. ©Û Ûé ÍÛ Û ˜Û Ûé ¾Û µ ýÛï õ ÉÛÛéµ Û Ûé.   4 

 (c) ¶Û à ˜Ûé¶Û Û …ÛÈÛ èÜ «Û  Ü ÈÛ ©ÛÁ õ¨ Û ¸Û Áõ ¬Û à 
–
X, Z …¶Û é D3 ÉÛÛéµ Û Ûé :  7 

ÈÛ•ÛÙ  : 0 – 20  20 – 40  40 – 60 60 – 80 80 – 100 100 – 120 120 – 140  

fi : 4 9 15 20 30 14 8 

…¬ÛÈÛÛ 
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 (a) …Û þùÉÛÙ Í ÛÁéõ Á õÛ ÉÛ ¶ÛÛ  Å Û“ Û¨Û Ûé ÅÛ ”ÛÛé.     
 (b) 50 …È Û ÅÛ Ûéï õ ¶Û Ûé¶Û Ûé ¾Û µ ýÛ ï õ  23 ™öé …¶Û é 30 …È Û ÅÛ Ûé ï õ ¶Û Ûé¶Û Ûé ¾Û µ ýÛ ï õ  32 ™öé. © Û Ûé …Û  80 

…È ÛÅ ÛÛéï õ ¶ÛÛé¶Û Ûé Ü ¾Û ËÛ ¾Û µ ýÛï õ ÉÛÛéµ Û Ûé.    

 (c) ¶Û à ˜Ûé¶Û Û …ÛÈÛ èÜ «Û  Ü ÈÛ ©ÛÁ õ¨ Û ¸Û Áõ ¬Û à M, Q3 …¶Ûé P85 ÉÛÛ éµ ÛÛé :    

ÈÛ•ÛÙ  : 0 – 9  10 – 19  20 – 29  30 – 39 40 – 49 50 – 59  60 – 69 

fi : 2 5 10 15 9 6 3 

 

4. (a) È ýÛÛ ”ýÛÛ  …Û ¸ÛÛé ƒ ¸ÛóÍ Û ÛÁ õ ¾Û Û¶Û , Í ÛÁéõ Áõ Û ÉÛ  Ü ÈÛ ˜ÛÅÛ ¶Û , ˜ÛÅ Û ¶ÛÛ×ï õ   3  
 (b) › Ûé n = 50, A = 35, Σfidi = – 200, Σfidi

2 = 4000 …¶Ûé C = 5 Ðü ÛéýÛ , ©ÛÛ é ¸Ûó¾Û ÛÜ ¨Û ©Û  Ü ÈÛ ˜Û ÅÛ ¶Û 
ÉÛ Ûéµ Û Ûé.  4 

 (c) ¶Û à ˜Ûé¶Û Û …ÛÈÛ èÜ «Û  Ü ÈÛ ©ÛÁ õ¨ Û ¸Û Áõ ¬Û à ÍÛ Áéõ Áõ Û ÉÛ  Ü ÈÛ ˜Û ÅÛ ¶Û ÉÛÛéµ Û Ûé ƒ 7 

ÈÛ•ÛÙ  : 0 – 5  5 – 10  10 – 15  15 – 20 20 – 25 25 – 30  30 – 35 

fi : 8 10 20 30 15 10 7 

                         …¬ÛÈÛÛ 
 (a) Ü ÈÛ ÌÛ ¾Û ©Û Û ¶Ûà  ïõ ÍÛ Ûé¤øà …Ûé › ÷̈ ÛÛ ÈÛÛ é.  
 (b) …éï õ  …ÛÈ ÛèÜ «Û  ÜÈ Û©Û Áõ ¨Û ¾Û Û× ¼Ûé …×Ü ©Û ¾Û  ˜Û ©Ûä¬Û Ùï õÛ é¶ÛÛé Í Û Áõ ÈÛÛ ÇÛé 45 …¶Ûé © Û ºõ ÛÈ Û© Û 10 ™öé. › Ûé ¾Ûµ ý Û Í ¬Û 

25 Ð ü ÛéýÛ , © ÛÛé Ü ÈÛÌ Û ¾Û ©ÛÛ ×ï õ ÉÛÛéµ Û Ûé.  
 (c) ¶Û à ˜Ûé¶Û Û …ÛÈÛ èÜ «Û  Ü ÈÛ ©ÛÁ õ¨ Û ¸Û Áõ ¬Û à ïõ ÛÅ ÛÙ Ü¸ Û ýÛ ÍÛ Ù¶Û ¶Û à Áõà ©Ûé Ü ÈÛ ÌÛ¾Û ©Û Û×ï õ ÉÛÛéµ Û Ûé ƒ 

ÈÛ•ÛÙ  : 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 

fi : 2 7 10 15 20 10 6 

 

5. (a) ¶Û à ˜Ûé¶Û Û ¸Û óÊ¶Û Ûé¶ÛÛ  ¤æ×øï õ ¾ÛÛ× › ÷ÈÛ Û ¼Û  …Û ¸ÛÛ é ƒ ( •Û ¾Ûé © Ûé …Û¥ø)  8  
   ( 1) Í Û ©Û ©Û ˜ÛÅ Û …é¤øÅ Ûé ÉÛä× ? 
   ( 2) È Û •Ûâ ï õÁõ ¨Û ¶ÛÛ  ¸ Ûóï õÛ Áõ  ÅÛ ”ÛÛé.  
   ( 3) ¾Û µ ýÛ ï õ ¶ÛÛ  ¼Û é- ¼Ûé •Û ä̈ ÛþùÛéÌ Û  ÅÛ ”ÛÛé.  
   ( 4) þùÉÛ Û×ÉÛ ï õ Ûé …¶Ûé ÉÛ ©Û Û×ÉÛ ï õÛé¶Û à Í Û×”ýÛÛ  ïé õ ¤øÅÛ à Ð üÛéýÛ  ™öé ? 
   ( 5) ¼Û é ¾Û ÛÜ Ð ü©Û à ¶Û Û ¸ÛóÍ Û ÛÁ õ ¶Ûà  ÍÛÁ õ ”Û Û¾Û¨ Ûà  ï õÁ õÈ ÛÛ ¾ÛÛ ¤éø¶Û ä× ËÛéÌ ¥ ø ¾Û Û¸Û  ïõ ýÛä× ™öé ? 
   ( 6) Ü ÈÛ ÌÛ ¾Û ©Û Û ¶Ûà  È ýÛÛ ”ýÛÛ  ÅÛ ”ÛÛé.  
   ( 7) ï õ ýÛÛ  Í Ûæª Û ¬Ûà  ÉÛ Ûéµ ÛéÅ Û ÜÈ ÛÌ Û¾Û© ÛÛ×ï õ ¶Ûà  Ý ïõ ¾Û ©Û  –3 ¬Ûà +3 ÍÛäµ Û à ¾ÛÛ × Ðü Ûé̂  ÉÛ ïéõ  ? 
   ( 8) …Û ÈÛèÜ «Û ÜÈ Û© ÛÁõ ¨Û ¾ÛÛ× î ýÛ ÛÁéõ  ¼Û Ðäü ÅÛ ïõ  …È ýÛÛ ”ýÛ ÛÜ ýÛ© Û Ðü ÛéýÛ  ™ö é ? 
   ( 9) …È ÛÅ ÛÛéï õ ¶ÛÛé 8, 8, 8, 8, 8¶ÛÛé ¾Û µ ýÛ ïõ  …¶Ûé ¸Û ó¾ÛÛ Ü¨ Û©Û  Ü ÈÛ ˜ÛÅÛ ¶Û ïéõ ¤øÅ Ûä× ¬ÛÛ ýÛ ? 
 (b) • Û ¨Û© ÛÁ õà  ï õÁ õÛé ƒ (• Û¾Ûé ©Ûé ªÛ¨Û)  6 

   ( 1) 5 …ÈÛ ÅÛÛ éï õ ¶ÛÛ é 3, 8, 10, 15 …¶Ûé 2x ¶Û Ûé ¾Û µ ýÛï õ 10 ™öé. © ÛÛé x¶Ûà  Ý ïõ ¾Û© Û ÉÛÛéµ Û Ûé.  
   ( 2) …éï õ ¾ÛÛÜ Ð ü© Ûà ¾ÛÛ ¤éø ¼Û Ð äü ÅÛ ïõ  32 …¶Ûé ¾Û µ ýÛ Í ¬Û  28 ™öé, ©Û Ûé ¾Ûµ ýÛ ïõ  ÉÛ Ûéµ ÛÛ é.  
   ( 3) › Ûé ˜ÛÅ Û ¶ÛÛ×ï õ  25%, ¾Û µ ýÛ ïõ  32 Ðü ÛéýÛ , ©ÛÛé ¸ Ûó¾Û ÛÜ ¨Û ©Û ÜÈ Û ˜Û ÅÛ ¶Û ÉÛÛ éµ ÛÛé.  

   ( 4) …éï õ Í Û¾ÛæÐ ü  ¾ÛÛ ¤éø j = – 0.6, 
–
X  = 25, S = 8 Ðü ÛéýÛ , © ÛÛé ¾Û µ ýÛ Í ¬Û  ÉÛ Ûéµ ÛÛ é.  

_ _ _ _ __ _ __ 
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Instructions : (1) Simple calculator can be used. 

   (2) Figures on right side indicate marks of the question. 
 

1. (a) Explain meaning of secondary data. 3 

 (b) State sources of secondary data. 4 

 (c) Write characteristics of an ideal questionnaire. 7 

                        OR 

 (a) State methods for collecting primary data. 

 (b) Explain meaning of Primary Data. 

 (c) Write difference between Primary Data and Secondary Data. 
 

2. (a) Give definition of Frequency, Class-Interval, Frequency Distribution. 3 

 (b) Write importance of Classification. 4 

 (c) From following observations, prepare a frequency distribution with class-interval 

5 and having one of the class 20 – 24. 7 

16 28 30 22 29 12 19 30 32 26 22 18 20 25 20 

19 20 23 28 28 30 32 12 18 26 30 32 25 29 23 

                         OR 

 (a) Write importance of diagram and graphs. 

 (b) Explain construction of cumulative frequency curve. 

 (c) From following frequency distribution, draw histogram and from it draw 

frequency curve. 

Class  : 10 – 20  20 – 30  30 – 40  40 – 50 50 – 60  60 – 70 

   f
i 

: 8 12 30 38 20 12 

 

3. (a) Give definition : Mean, Mode, Quartiles. 3 

 (b) The mean of 10 observations is 12. Later on it was noticed that while calculation 

one observation was wrongly taken as 8 instead of 18. Find correct value of mean. 4 

 (c) From following frequency distribution, find 
–
X, Z and D3. 7 

Class : 0 – 20  20 – 40  40 – 60 60 – 80 80 – 100 100 – 120 120 – 140  

   f
i
 : 4 9 15 20 30 14 8 

OR 
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 (a) Write characteristics of an Ideal Average. 

 (b) The mean of 50 observations is 23 and mean of 30 observations is 32. Find 

combined mean of all 80 observations. 

 (c) From following distribution find M, Q3 and P85. 

Class : 0 – 9  10 – 19  20 – 29  30 – 39 40 – 49 50 – 59  60 – 69 

   f
i
 : 2 5 10 15 9 6 3 

 

4. (a) Give definition : Dispersion, Average deviation, Coefficient of variation. 3 

 (b) If n = 50, A = 35, Σfidi = –200, Σfidi
2 = 4000 and C = 5, find standard deviation. 4 

 (c) From the following distribution, find mean deviation. 7 

Class : 0 – 5  5 – 10  10 – 15  15 – 20 20 – 25 25 – 30  30 – 35 

   f
i
 : 8 10 20 30 15 10 7 

               OR 

 (a) State tests of skewness. 

 (b) The sum of two extreme quartiles of a frequency distribution is 45 and their 

difference is 10. If median is 25, find coefficient of skewness. 

 (c) From following frequency distribution, find coefficient of skewness by Karl 

Pearson’s method : 

Class : 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 

   f
i
 : 2 7 10 15 20 10 6 

 

5. (a) Answer following questions in short : (any 8) 8 

  (1) What is meant by continuous variable ? 

  (2) State types of Classification. 

  (3) Write two merits and two demerits of mean. 

  (4) How many Deciles and Percentiles are there ? 

  (5) Which measure of dispersion is best to compare steadiness of two 

information ? 

  (6) Write definition of skewness. 

  (7) By which formula the value of coefficient of skewness may lie between –3 

to +3 ? 

  (8) When mode is ill-defined in frequency distribution ? 

  (9) What is mean and standard deviation of observations 8, 8, 8, 8, 8 ? 

 (b) Attempt any three of the followings : 6 

  (1) The mean of 5 observations 3, 8, 10, 15 and 2x is 10. Find value of x. 

  (2) For a grouped data, mode is 32 and median is 28. Find mean. 

  (3) If CV = 25%, mean is 32; find standard deviation. 

  (4) For a group, j = –0.6, 
–
X = 25, S = 8, find median. 

___________ 


